
SYNTAX,	
  cvičení	
  7	
  

Vypracovat	
  na	
  21.11.	
  

	
  

Posun	
  subjektu,	
  četba	
  Haegeman	
  247-­‐267	
  

	
  

	
  

Nakreslete	
  strukturu	
  věty	
  

	
  

(i)	
  Všichni	
  podnikatelé	
  budou	
  muset	
  odvádět	
  daně	
  elektronicky.	
  

(ii)	
  Podnikatelé	
  budou	
  všichni	
  muset	
  odvádět	
  daně	
  elektronicky	
  

(iii)	
  Podnikatelé	
  budou	
  muset	
  všichni	
  odvádět	
  daně	
  elektronicky	
  

	
  

(iv)	
   Vono	
  tam	
  prší.	
  

	
  

Zamyslete	
  se	
  nad	
  následující	
  větou:	
  

	
  

(v)	
   Všichni	
  budou	
  muset	
  podnikatelé	
  odvádět	
  daně	
  elektronicky.	
  

(vi)	
   Všichni	
  budou	
  podnikatelé	
  muset	
  odvádět	
  daně	
  elektronicky.	
  

	
  

Jsou	
  věty	
  (i-­‐iii)	
  stejně	
  přijatelné	
  jako	
  (v-­‐vi)?	
  Pokdu	
  je	
  mezi	
  nimi	
  kontrast,	
  v	
  čem	
  spočívá?	
  Pokuste	
  se	
  
ho	
  vysvětlit	
  v	
  rámci	
  teorie	
  posunu	
  subjektu.	
  


